Baku State University Journal of Mathematics & Computer Sciences **2024**, v. 1 (2), p. 90-97 journal homepage: http://bsuj.bsu.edu.az/en

ON THE LAW OF LARGE NUMBERS FOR THE OF MARKOV RANDOM WALKS DESCRIBED BY THE AUTOREGRESSIVE PROCESS AR(1) Vuqar S. Khalilov, U.F.Mammadova

Institute of mathematics and Mechanics of Ministry of Sciences of Edication of Azerbaijan Received 05 January 2024; accepted April 02 April 2024

Abstract

In this paper is proved the law of large numbers for the Markov random walks, discribed by the first-order autoregressive process (AR(1)).

Keywords: Markov random walk, first-order autoregressive process, the law of lage numbers. *Mathematics Subject Classification* (2010): 62M10, 60F15

1. Introduction

It is known that the first-order autoregressive process (AR(1)) is determined by the solution of a recurrent equation of the form

 $X_n = \beta X_{n-1} + \xi_n$ (1) where $n \ge 1$, $\beta \in R = (-\infty, \infty)$ is some fixed number and the innovation $\{\xi_n\}$ is the sequence of independent identically distributed random variables with finite variance $\sigma^2 = D\xi_1 < \infty$ and with mean $a = E\xi_1$. It is assumed that the initial value of the process X_0 is independent on the innovation $\{\xi_n\}$.

The process AR(1) plays a great role in theoretical and applied terms in the theory of Markov random walks ([1]- [10]).

The following Markov random walks are described by means of the process AR(1)

$$S_n = \sum_{k=0}^n X_k,$$

$$C_{n} = \sum_{k=1}^{n} X_{k} X_{k-1},$$

$$D_{n} = \sum_{k=1}^{n} X_{k-1}^{2},$$

$$\theta_{n} = \frac{C_{n}}{D_{n}},$$

$$Z_{n} = \frac{C_{n}^{2}}{D_{n}},$$

$$H_{n} = \sum_{k=1}^{n} X_{k-1} \xi_{x}, \quad n \ge 1$$

These Markov random walks have been considered in the some problems of theory of nonlinear renewal theory and of sequential analysis ([1]- [10]).

The limits theorems for the Markov random C_n , D_n , θ_n and Z_n are proved in the case a = 0 in works [1], [2], [4].

In the present paper, we prove the law of large numbers for the mentioned Markov random walks in general case when $a = E\xi_1 \in R = (-\infty, \infty)$.

Note that in many problems of theory of Markov random walks described by the process AR(1), the case $a \neq 0$ is more complicated compared in case a = 0. As noted in the works [8, 9] the case $a \neq 0$ has been studied much less. A number of statistical problems for the model (1.1), in the case $a \neq 0$ were studied in [6] and [7].

We have

Theorem. Let $EX_0^2 < \infty$, $|\beta| < 1$, and $\sigma^2 = D\xi_1 < \infty$. Then as $n \to \infty$ the following convergences in probability are satisfied:

1)
$$\frac{S_n}{n} \xrightarrow{P} \frac{a}{1-\beta}$$
;
2) $\frac{H_n}{n} \xrightarrow{P} \frac{a^2}{1-\beta}$;
3) $\frac{D_n}{n} \xrightarrow{P} \frac{\sigma^2}{1-\beta^2} + \left(\frac{a}{1-\beta}\right)^2$;
4) $\frac{C_n}{n} \xrightarrow{P} \frac{\beta \sigma^2}{1-\beta^2} + \left(\frac{a}{1-\beta}\right)^2$.

Proof. Let us prove statement 1). From (1) we find

$$\sum_{k=1}^{n} X_{k} = \beta \sum_{k=1}^{n} X_{k-1} + \sum_{k=1}^{n} \xi_{k}$$
(2)

Hence, taking into account

$$\sum_{k=1}^{n} X_{k-1} = \beta \sum_{k=1}^{n} X_{k} + (X_{0} - X_{n})$$

2

from (2) we have

$$(1-\beta)\sum_{k=1}^{n} X_{k} = \beta(X_{0}-X_{n}) + \sum_{k=1}^{n} \xi_{k}$$

or

$$(1-\beta)\frac{S_n}{n} = \frac{\beta(X_0 - X_n)}{n} + \frac{1}{n}\sum_{k=1}^n \xi_k$$
(3)

By Markov inequality it follows from $E|X_0| < \infty$ that

$$\frac{X_0}{n} \stackrel{P}{\to} 0 \text{ as } n \to \infty.$$
(4)

Prove that

$$\frac{X_n}{n} \stackrel{P}{\to} 0 \text{ as } n \to \infty.$$
(5)

By sequential iterations it is easy to obtain from (1) the following representation for \boldsymbol{X}_n

$$X_{n} = \beta^{n} X_{0} + \sum_{k=0}^{n-1} \beta^{k} \xi_{n-k} \quad .$$
(6)

From (6) by virtue of $b = E |\xi_1| < \infty$ we obtain

$$E|X_{n}| \leq |\beta|^{n} E|X_{0}| + \sum_{k=0}^{n-1} |\beta|^{k} E|\xi_{n-k}| \leq \\ \leq E|X_{0}| + b\sum_{k=0}^{\infty} |\beta|^{k} = E|X_{0}| + \frac{b}{1-|\beta|} < \infty .$$
(7)

(5) follows from (7).

By the stroung low of large numbers, for random variables ξ_n we have

$$\frac{1}{n}\sum_{k=1}^{n}\xi_{k}\xrightarrow{a.s.}a, \text{ as } n\to\infty.$$
(8)

Thus, from (3), (4), (5) and (8) we have

$$\frac{1}{n}S_n \xrightarrow{P} \frac{a}{1-\beta}, \text{ as } n \to \infty.$$

To prove the statement 2), at first we prove that

$$\frac{\sum_{k=1}^{n} X_{k-1}(\xi_k - a)}{n} \xrightarrow{P} 0, \text{ as } n \to \infty.$$
(9)

To prove (9), it suffius to show

Vuqar Khalilov, U.Mammadova / Journal of Mathematics & Computer Sciences v. 1 (2) (2024), 90-97

$$J = E\left(\frac{\sum\limits_{k=1}^{n} X_{k-1}(\xi_k - a)}{n}\right)^2 \xrightarrow{P} 0, \text{ as } n \to \infty.$$
(10)

By virtue of independence of random variables ξ_k and X_{k-m} , $1 \le m \le k$, we have

$$J = \frac{1}{n^2} E \left(\sum_{k=1}^n X_{k-1} (\xi_k - a) \right)^2 = \frac{1}{n^2} \sum_{k=1}^n E (X_{k-1} (\xi_k - a))^2 =$$
$$= \frac{1}{n^2} \sum_{k=1}^n E X_{k-1}^2 E (\xi_k - a)^2 = \frac{\sigma^2}{n^2} \sum_{k=1}^n E X_{k-1}^2.$$
(11)

We now prove that for ruther large n

$$\sum_{k=1}^{n} E X_{k-1}^{2} = O(n).$$
(12)

.

From the representation (6) we can obtain

$$EX_{n} = \beta^{n} EX_{0} + a \sum_{k=0}^{n-1} \beta^{k} \to \frac{a}{1-\beta}$$
(13)

as $n \to \infty$, since $|\beta| < 1$ and $E|X_0| < \infty$.

Furthermore,

$$DX_{n} = E \left(\beta^{n} \left(X_{0} - EX_{0} \right) + \sum_{k=0}^{n-1} \beta^{k} \left(\xi_{n-k} - a \right) \right)^{2} =$$
$$= \beta^{2n} E \left| X_{0} - EX_{0} \right|^{2} + \sigma^{2} \sum_{k=0}^{n-1} \beta^{2k} \to \frac{\sigma^{2}}{1 - \beta^{2}}$$
(14)

as $n \to \infty$, since $E|X_0 - EX_0|^2 < \infty$.

From (13) and (14) it follows that

$$EX_n^2 \to \frac{\sigma^2}{1-\beta^2} + \left(\frac{a}{1-\beta}\right)^2 \text{ as } n \to \infty.$$
(15)

Consequently (12) follows from (15).

(10) follows from (11) and (12).

Thus, the convergence of (9) is proved.

Now, by virtue of the equality

$$\frac{H_n}{n} = \frac{\sum_{k=1}^n X_{k-1}(\xi_k - a)}{n} + \frac{a}{n} \sum_{k=1}^n X_{k-1}$$

and from (9) and statement 1) we obtain statement 2) of Theorem 1. Let us prove statement 3). From (1) we have

$$\sum_{k=1}^{n} X_{k}^{2} = \beta^{2} \sum_{k=1}^{n} X_{k-1}^{2} + 2\beta \sum_{k=1}^{n} X_{k-1} \xi_{k} + \sum_{k=1}^{n} \xi_{k}^{2}.$$

Hence we obtain

Vuqar Khalilov, U.Mammadova / Journal of Mathematics and Computer Sciences v. 1(2) (2024), 90-97

$$\left(1-\beta^{2}\right)\sum_{k=1}^{n}X_{k-1}^{2}=X_{0}^{2}-X_{n}^{2}+2\beta\sum_{k=1}^{n}X_{k-1}\xi_{k}+\sum_{k=1}^{n}\xi_{k}^{2}$$

or

$$\left(1-\beta^{2}\right)\frac{D_{n}}{n} = \frac{X_{0}^{2}-X_{n}^{2}+2}{n} + 2\beta\frac{H_{n}}{n} + \frac{1}{n}\sum_{k=1}^{n}\xi_{k}^{2}.$$
(16)

It is clear that that

$$\frac{X_0}{\sqrt{n}} \stackrel{P}{\to} 0, \text{ as } n \to \infty$$

and from estimate (7) we have

$$\frac{X_n}{\sqrt{n}} \stackrel{P}{\to} 0 \text{ as } n \to \infty.$$

Then, by virtue of the statement 2).

By the strong law of large numbers for random variables ξ_n^2

$$\frac{1}{n}\sum \xi_k^2 \xrightarrow{a.s.} \sigma^2 + a^2$$

from (16) we obtain

$$(1-\beta^2)\frac{D_n}{n} \xrightarrow{P} \frac{2\beta a^2}{1-\beta} + \sigma^2 + a^2 = \sigma^2 + \frac{a^2(1+\beta)}{1-\beta}.$$

This implies statement 3) of the theorem. To prove statement 4). We have

$$C_{n} = \sum_{k=1}^{n} X_{k-1} X_{k} = \sum_{k=1}^{n} X_{k-1} (\beta X_{k-1} + \xi_{k}) =$$
$$= \beta \sum_{k=1}^{n} X_{k-1}^{2} + \sum_{k=1}^{n} X_{k-1} \xi_{k}$$

or

$$\frac{C_n}{n} = \frac{\beta D_n}{n} + \frac{H_n}{n}$$

Hence, from statement 2) and 1) we obtain

$$\frac{C_n}{n} \xrightarrow{P} \beta \left(\frac{\sigma^2}{1 - \beta^2} + \left(\frac{a}{1 - \beta} \right)^2 \right) + \frac{a^2}{1 - \beta} = \frac{\beta \sigma^2}{1 - \beta^2} + \left(\frac{a}{1 - \beta} \right)^2.$$

Thus, the theorem is proved.

The following corollary follows from this theorem.

Corollary 2.1. Let the conditions of the theorem are satisfied, and a = 0, then

1)
$$\theta = \frac{C_n}{D_n} \xrightarrow{P} \beta$$
, as $n \to \infty$,
2) $\frac{X_n}{n} \xrightarrow{P} \frac{\sigma^2 \beta^2}{1 - \beta^2}$, as $n \to \infty$.

5

Corollary 2.2. Under the conditions of the theorem, we have

$$\beta_n = \frac{\sum\limits_{k=1}^{n} (X_k - a) X_{k-1}}{D_n} \xrightarrow{P} \beta, \text{ as } n \to \infty,$$

The statement of corollary 2.2 follows directly from statements 3) and 4) of the theorem. The statements of corollary 2.3 follows by virtue of the equality

$$\beta_n = \frac{C_n}{n} - a \frac{S_{n-1}}{D_n}$$

from statements 1), 3) and 4) of the theorem.

In corollary 2.2 β_n is the least-squares estimator by the results of observations

 $X_0, X_1, X_2, \dots, X_n$, and the case of a = 0 we have $\beta_n = \theta_n$.

The authors express sincere gratitude to the reviewer for a number of useful comments that help improve the presentation of the work.

References

- [1] Aliyev R.T., Rahimov F., Farhadova A. On the first passage time of the parabolic boundary by the Markov random walk. Commucations in Statistics Theory and Method. **2022**, pp.1-10.
- [2] Melfi V. F. Nonlinear Markov renewal theory with statistical applications. The Annals of Probability. **1992**, 20 (2), pp. 751-771
- [3] Melfi V.F. Nonlinea renewal theory for Markov random walks. Stochostic processes and their applications. **1994**, 54 pp. 71 -93.
- [4] Pollard D. Convergence of stochastic processes. New York. Springer. 1984.
- [5] Zang. Y. Vang X. Limit theory for Random coefficient first-order autoregressive process. 2010. Communications and statisties theory and Methods 39, pp. 1922-1931.
- [6] Vesna M.C. A random coefficient autorregressive model (RCAR(1) model)
 2004. Universiti Belgrad publikaciya Elektrabenn fakulteta. Ser. mathematika 15(15), pp. 45-50.
- [7] Phatarfod R. M. Sequential tests for normal Mapkov Sequence. Jurnal of the Australiom Mathematical Sosiety. 2009, v.12, issue 4, pp. 433-440.
- [8] Novikov A.A. Some remarks on distribution of the est passage time and optimal Stop of AR(1) sequenes. Theoria veroyatnii prim. 53 issue 3.458-471. 2008. (Russian).

- [9] Novikov A. A. Ergasher B. A. Limit theorem for the 2st passage time of the level of avtoregressive prosses Tr. MIAN 202, 209-233. **1993**.
- [10] Rahimov F.H. K Khalilov U.S. Hashimova T.E. On the generalization of the central limit theorem for the least-squares estimator of the unknown parameter in the autoregressive process of order one (AR(1)). Uzbek Mathematikal Journal **2021**. volume 6.5, issue 3 pp. 126-131. DOI:10.29229/uzmj 2021-3-12.